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QUIZ-01

1. 40 H, 32wt 3R 24 #t y13it aret g1 &1 31ef uRAg
's' fsargPm?
A. 48 Ht

B. 50 Ht
C. 46 Ht D. 45 Ht (A)
ST&T: s = (40 + 32 + 24)/2 = 96/2 = 48 HI
2. 5T alapeT & fAe ERIT BT ga T e?
A.s(s+a)(s+b)(s+ <)
B.s(s-a)(s-b)(s-¢)
C.(s-a)(s-b)(s-¢q)/s
D. s? - abc (B)
&r&gT: ERA B & &bt = /[s(s - a)(s - b)(s - )]
3. 10 Gt YT aTet FHYST 35T BT &% ERIT gA 4 T
BITT?
A. 25+/3 THT? B. 50 THT?
C. 30 THI? D. 20/3 TH1? (A)
ST - s =15, %A = /[15(15-10)(15-10)(15-10)] =
25~/3 THT?
4. 40 #t, 32 #t 3R 24 H 113 a1t BT fPH TBR
PTE?

A. FHYST B. HHPIUT

C. gafgaTg D. farsrHepIoT (B)
T&T: UTSATTRE THY T: 322 + 242 = 40%, IE HHABIUT

[ELSK

5. afe st et YsTme 8 &t 11 4T 3R 13 A €, a1 38T
URATT FITEIIT?
A. 30 THt B. 32 THT
C.34 OHt D. 28 OHt (B)
ZTeT: URAIY = 8 + 11 + 13 = 32 qHT

6. 250 HI URHATY aTel b Ivila utdh bt 720 Ufd Hiek &
TR & B 6 APTa fsat &t (3 71 e Blsaw)?
A. 35000 B. 34940
C. %4920 D. 35100 (B)
& : dR 6l AdTS = 250 - 3 = 247 Hl, APTd
= 247 x 20 = $4940
7. 60 Ht, 100 Ht 3R 140 Ht Y3131} aTe AT BT 37Ef URRATg
CRUGIEIE
A.130 Ht B.150 Ht
C.120 Ht D. 160 Ht (B)
T s = (60 +100 + 140)/2 =150 H
8. gfes =16 aHt, a =8 A, b = 1 AHl, c =13 qHI 8, Al s
- a BT HAMF FATEIT?
A. 9 JHt
C.8 awt
JrEFT: s-a=16-8 =8l
9. AT a%a BT JA fd TuidsT 3 fear am?
A. gfqis B. ERH
C. UTSATPTRY DEIFICE ] (B)
ZT%T: BRI 310 fcidsifgdr 4 eRIF I fdefad faar
10. TfS fpdft BT T TRATT 540 At & 3R Y737 BT

B.7 It
D. 6 THt (@

3T 12:17:25 &, di 9eId o st Y11 T gfl?
A.180 JHt B. 150 THt
C. 200 IHt D. 210 OHt (A)

7T : Pl HIT = 12+17+25 = 54; YA HIT = 540/54 =
10, TeY &ialt Y311 = 25x10 = 250 FHT




